....................................

......................................................................

.......

-~ T
>
4
Ll

0.95

Pileup

—=— DQM_original_stiepZ_tibar-phasel-newgeom
—e— DQM_mkFit_step2_ttbar-phasel-newgeom
—— DQM_angle_step?2_ttbar-phasel-newgeom

eom

I S ¥
o -+

—+— DQM_fast_step?2_ttbar-phasel-newg

- - |
Lol Lo L1 Lo
- : +
B . + -+
3} - b
B _Ll 2+ | 4

TTl <+ |5

0.95

L ‘ gl
r oY -+
r : - .

1

4
]

£0.09
©
2,0.08
£
-gom
'—
50.06
& 0.05
$0.04
o
©0.03
(V)]

0.02

U. I

0.01




	Contents
	Page 1


